
Answer on question 36105 – Math – Trigonometry 

In triangle ABC, prove that 𝑎 𝑠𝑖𝑛(𝐵 − 𝐶) + 𝑏𝑠𝑖𝑛(𝐶 − 𝐴) + 𝑐𝑠𝑖𝑛(𝐴 − 𝐵) = 0 

Solution 

Using the following trigonometric identity  

sin(𝐴 − 𝐵) = sin 𝐴 cos 𝐵 − sin 𝐵 cos 𝐴 

We get 

𝑎 𝑠𝑖𝑛(𝐵 − 𝐶) + 𝑏𝑠𝑖𝑛(𝐶 − 𝐴) + 𝑐𝑠𝑖𝑛(𝐴 − 𝐵) = 𝑎 sin 𝐵 cos 𝐶 − 𝑎 sin 𝐶 cos 𝐵 + 

+𝑏 sin 𝐶 cos 𝐴 − 𝑏 sin 𝐴 cos 𝐶 + 𝑐 sin 𝐴 cos 𝐵 − 𝑐 sin 𝐵 cos 𝐴 = cos 𝐴 (𝑏 sin 𝐶 − 𝑐 sin 𝐵) + 

+ cos 𝐵 (𝑐 sin 𝐴 − 𝑎 sin 𝐶) + cos 𝐶 (𝑎 sin 𝐵 − 𝑏 sin 𝐴) 

According to the sine theorem we have 

𝑎

sin 𝐴
=

𝑏

sin 𝐵
=

𝑐

sin 𝐶
   

Therefrom 

𝑏 sin 𝐶 − 𝑐 sin 𝐵 = 𝑐 sin 𝐴 − 𝑎 sin 𝐶 = 𝑎 sin 𝐵 − 𝑏 sin 𝐴 = 0 

And we get  

𝑎 𝑠𝑖𝑛(𝐵 − 𝐶) + 𝑏𝑠𝑖𝑛(𝐶 − 𝐴) + 𝑐𝑠𝑖𝑛(𝐴 − 𝐵) = 0. 

QED 
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